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NEW
Part-III 3-Tier

2016'
SOCIOLOGY
(General)
PAPER—IV
Full Marks : 90
Time : 3 Hours
The figures in the margin indicate full marks

Candidates are required to give their answers in their

own words as far as practicable.

Illustrate the questions wherever necessary.

Group—A

Answer any two questions : 2x15

1. Define Rural Sociology. Discuss the scope and significance

of studying Rural Socioclogy in India. 5+10
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Discuss M. N. Srinivas’s views on the significance of

village studies 1n India. ‘ 15

What are the different steps in social research ? 15

Define social problems. Indicate the differences between

social problem and social disorganisation. 5+10

Critically evaluate the different poverty eradication
programmes undertaken by the Government in

post-independent India. 15

What do you mean by secularism ? Discuss the problems

associated with secularism in India. 15
Group—B ’
Answer any five questions : SXx8

Discuss the advantages and disadvantages of probability

sampling. ‘ ; 4+4

Discuss the nature and scope of social demography.
4+4

What are the social and cultural factors affecting fertility

in India ? . 4+4
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10.

11.

12.

13.

14.

15.

16.

17.

18.

Elucidate the causes of unemployment in India. 8

Mention the differences between questionnaire and

schedule. 8

Discuss the changing status of women in modern India.
8

-D_eﬁne sampling. Discuss the importance of sampling in

social research. 8
Elucidate the causes of rural poverty in India. 8

What is ‘role-less role’ ? Elaborate the problems faced by

the aged in the society ? 3+5

Discuss the problems of unemployment amoeng the

educated in India, : 8

Group—C

Answer any five questions : 5x4
What is disguised unemployment ?

Define Poverty.
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19.

20.

21,

22.

23.

24.

25.

26.

What is non-probability sampling ? b
Mention any two causes of poverty in India.
What is IRDP?

Mention any two advantages of observation as a tool of

social research.
Define juvenile delinquency.
What is fertility ?

Mention any two causes of drug-addiction in India.

ALl

Mention any two causes of Communalism in India.
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